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101|R#A7 L 603 438 165 Kg |&)I 1,620 108| £ 2,484 216
102|357 L 1,915 1915 Kg BIE 1,566 800
111|&EEF £ 281 1 280| Kg |B)I 356 BRE - &4 1,728 314
113|RAV S 1 1 Ke FfE 2,700
114|B5EFE 163 163| Kg e 2,700 1,296
1171 % 492 112 380| Kg |[@&B 1,944 324| ) 3,780 324
121{hblE € 12 11 1| Kg |EE 1,188 1,080|% 1| 756
134[#= 596 378 218| Kg |EE 1,944 864| £ 2,700 1,296
140(5 I 35 35| Kg & 159,840 2,424
147|E2 0 40 40| Kg |EE 3,786 i - RIS 17,280 6,480
158|EFEA A LS 335 335| Kg R 2,646 1,620
203|/Né L 216 216| Kg =5 486 162
205|585 L 170 170| Kg il 756 568
206| = 1F 250 250 Kg = 605 108
207| = AE 8 8| Ke il 1,161
208|m>% 604 604| Kg =5 1,404 270
2094 B & LA 268 268| Kg B 1,188 459
210{1F AL 220 220 Kg |Ei& 8,100 1,215
212|&5E.3 Y 91 91| Kg =40 2,106 1,150
222|052 150 150 Kg T 432 324
251|< B %<3 8 8| Keg £4 10,260
252|L0AEECH 89 89 Ke |m7 3,456 3,024
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254|ED12ELCA 529 529 Kg 2Pl 1,998 1,058
3031 A 7Ly 168 168] Kg BH - RIG 972 360
305[£Aah 0% 22 22 Kg |&/I 2,052 1,944

315|7: b5 6 14 141 Kg = I 3,564

3191 h o 522 522 Kg ENITE e 1,150 864
3321 WA =EF 421 4211  Kg E2p] 2,246 1,944
3BlHHY 28 28| Kg REB 12,960 3,996
3541 <Y 108 35 73] Kg |TE 1,612 648| K 1,728 1,242
3/5|HEY) 135 135 Kg A - PE 1,728 600
356|L LA 65 65 Kg SHR 1,512 972
3577/~ E 6 6] Kg e 3,888

358| KE 20 20| Kg A0 1,728 1,620
362(m & 21 21| Kg FE 1,620

401|H W 61 61| Kg Iz & 2,160 1,728
4025 E 16 16| Kg FAN 6,480 5,724
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RN L 40 40| Kg F 1,450 1,390
AEBRA AT 80 80| Kg 3 4,320 1,260
BRECEZV 90 90| Kg 73 1,620 1,256
TRER 230 230 Kg JtF 1,296 842
BRI 129 129| Kg 73 2,650 1,170
AR 12 12 Kg JtF 2,300 2,000
RS S 14 14| Kg Bl 378
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70110 BA 4,195 1,805 2,390 Kg |EE 3,132 962| &= 3,078 713
704\ LETF 454 4541  Kg LA 1,674
710(2 2 AT 29 291 Kg LA 2,808 1,260
BlEFAI L 195 1951 Kg SR 520 54
755|FH&» C 438 438 Kg EE 918 710
T56(FNET 5 5 Kg Ri& 1,588
76l|b Y AEE 12 12 Kg FJE 2,121 1,980
B01[IBAL = 1S 120 1201 Kg ¥ -mA 1,728 1,180
802|1 x| 10 10| Kg mE 1,242
8051 1E 131 131 Kg B =2 1,015 480
810|FAKF 303 303 Kg bF 3,564 2,196
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